|  Example 14

I ot Ll X henfind 5
8o qor e e
Solution |
| 1 1  x
—_—t— = —
g 9 10
@ADL A s S e
3 + o =% (multlplylngby'IO_!) |
(10x9)+10=x
x=100 |
Example 15
- : i
Evaluate Rl whenn=5r=2
ri(n-r)! |
Solution ‘
n! 5! S 5x4x3!

=10

_r!(n—r)' 2'(5 2)' 2'><3' 2x3!



|
Evaluate (n’j‘r)! ,when i.n=6,r=2 ii.n=9,r=5.
Solution
m 6 6 6x5x4l
(n-r) (6-2)! 4 o4
o 9 9xBxTx6x5x4 "

R R S TR 4 =izl |
~SOLUTIONS TO NCERT TEXT BOOK EXERCISE 7.2 -
1. Evaluate

i 8 ii. 41-31
Solution .

i 81=1x2x3x4%x5x6x7x8=40320 -
il 4!—3!=(1><2><3><4)—(]><2><'3)=24—6=18

2. Is3!+41=71?

Solution N
3N+41=1%x2x3+1%x2%x3%x4=6+24=30
T=1%x2%x3x4x%x5x 6 x 7 x=5040
No since 30 # 5040

' . 8 '

3. Compute ——.
6!x2!
Solution
8 ;8x7'x6!_8x7_

621 6%2!  1x2 .
1 1 x '
4, Ifa+—7—'—5,ﬁndx
Solution
1 1 x 8 8 Lt
- + == o = +—7—! =X (multiplying by 8!)

8xTx6! 8x7!
X== +
6! 7

(! =n(n—1)!) =56+8=64



